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E–3013 

B. Com. (Part I) EXAMINATION, 2021 

(Old Course) 

(Group—I : Accounting) 

Paper First 

FINANCIAL ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- iw¡thxr O;; ls vki D;k le>rs gSa \ ;g vkxexr O;; ls fdl 

izdkj fHkUu gS \ le>kb,A 

What do you understand from capital expenditure ? How 

does it differ from revenue expenditure ? Explain. 
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vFkok 

(Or) 

1 tqykbZ] 2013 dks lat; us ` 20]000 udn] ` 10]000 dk eky ,oa 

` 5]000 ds QuhZpj ls O;kikj izkjEHk fd;kA 

tqykbZ ekg esa vU; ysu&nsu bl izdkj Fks % 

2013 

tqykbZ 

 
` 

2 cSad esa tek fd;k 14,000 

5 frtksjh [kjhnh ,oa pSd ls Hkqxrku fd;k 8,000 

7 ‘;ke ls eky [kjhnk 11,500 

10 ujsu dks m/kkj eky cspk 6,500 

14 udn foØ; 11,400 

16 lqjs’k dks 10% O;kikfjd dVkSrh ij vafdr ewY; 

dk eky cspk 7,000 

18 lqjs’k us vafdr ewY; dk eky ykSVk;k 700 

20 ujsu dks /kukns’k feyk vkSj cSad esa tek fd;k 6,500 

24 ia[kk [kjhnk 700 

26 nku esa ` 101 udn rFkk ` 200 dk eky fn;k  

28 ‘;ke dks iw.kZ Hkqxrku esa fn, 11,300 

29 lqjs’k dh vksj ls x.ks’k ls izkIr fd, 2,000 

30 ‘kadj dks eky ds fy, vkns’k fn;k 4,000 

31 etnwjh nh 400 

31 pSd }kjk fdjk, dk Hkqxrku fd;k 1,000 

31 deh’ku izkIr fd;k 700 

mi;qZDr O;ogkjksa ds fy, tuZy ¼iath½ izfof”V;k¡ nhft,A 
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Sanjay commenced his business on 1st July, 2013 with  

` 20,000 in cash, goods worth ` 10,000 and furniture worth  

` 5,000. His other transactions for the month of July were as 

follow : 

2013 

July 

 
` 

2 Deposited into bank 14,000 

5 Safe purchased and paid by cheque 8,000 

7 Goods purchased from Shyam 11,500 

10 Sold goods to Naren on credit 6,500 

14 Cash sales 11,400 

16 Sold goods to Suresh at 10% trade discount 

of catalogue price 7,000 

18 Suresh returned goods of catalogue price 700 

20 Cheque received from Naren and deposited 

into bank  6,500 

24 Fan purchased 700 

26 Gave away in charity ` 101 and cash and 

goods worth ` 200  

28 Paid to Shyam in full settlement of his 

account 11,300 

29 Received from Ganesh on behalf of Suresh 2,000 

30 Sent an order to Shankar for goods worth 4,000 

31 Paid wages 400 

31 Paid rent by cheque 1,000 

31 Received commission 700 

Give journal entries for the above transactions. 
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bdkbZ&2 

(UNIT—2) 

2- v’kqf);ksa ds lq/kkj ls D;k vk’k; gS \ bldh fofHkUu fof/k;ksa dk o.kZu 

dhft,A 

What is the meaning of Rectification of Errors ? Describe its 

various methods. 

vFkok 

(Or) 

31 ekpZ] 2020 dks Jh jes’k dh iqLrdksa esa fuEufyf[kr ‘ks”k Fks % 

[kkrksa ds uke 

MsfcV ‘ks”k 

(`) 

ØsfMV ‘ks”k 

(`) 

Ø; ,oa foØ; 96,000 1,20,000 

iw¡th  80,000 

LdU/k ¼1 vizSy] 2019½ 20,800  

Mwcr _.k 2,000  

osru 10,000  

dj ,oa chek 4,000  

lkekU; O;; 4,800  

v’kks/; _.k ds fy, vk;kstu  3,600 

vkarfjd xkM+h HkkM+k 1,120  
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vkgj.k 12,640  

gLrLFk jksdM+ 9,280  

cSad esa jksdM+ 8,000  

nsunkj ,oa ysunkj 52,800 15,120 

izkIr deh’ku  2,880 

mikftZr deh’ku ¼1&4&2019½ 320  

iwoZnŸk osru ¼1&4&2019½ 960  

vnŸk O;; ¼1&4&2019½  1,120 

dqy 2,22,720 2,22,720 

lek;kstu % 

(i)  vafre LdU/k ` 28]000 

(ii) vfxze izkIr deh’ku ` 1]200 

(iii) vnŸk O;; ` 400 

(iv) iwoZnŸk chek ` 240 

(v) Mwcr _.k ` 3]000 

(vi) nsunkjksa ij vk;kstu 5% ls c<+kuk gSA 

31 ekpZ] 2020 dks lekIr gksus okys o”kZ ds fy, O;kikj ,oa ykHk&gkfu 

[kkrk rFkk fpëk rS;kj dhft,A 
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The following balances were extracted from the books of 

Shri Ramesh on 31st March, 2020 : 

Name of Accounts 

Debit 

Balance 

(`) 

Credit 

Balance 

(`) 

Purchases and Sales 96,000 1,20,000 

Capital  80,000 

Stock (1-4-2019) 20,800  

Bad Debts 2,000  

Salaries 10,000  

Tax and Insurance 4,000  

General Expenses 4,800  

Provision for Bad Debts  3,600 

Carriage Inwards 1,120  

Drawings 12,640  

Cash in hand 9,280  

Cash at Bank 8,000  

Debtors and Creditors 52,800 15,120 

Commission received  2,880 

Accured commission (1-4-2019) 320  

Prepaid Salary (1-4-2019) 960  

Outstanding Expenditure (1-4-2019)  1,120 

Total 2,22,720 2,22,720 
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Adjustments : 

(i) Closing stock ` 28,000  

(ii) Advance receipt of commission ` 1,200 

(iii) Outstanding Expenses ` 400 

(iv) Prepaid  Insurance ` 240 

(v) Bad Debts ` 3,000 

(vi) Provision for debtors is to be increased by 5%. 

Prepare Trading and Profit and Loss Account and Balance 

Sheet for the year ending on 31-3-2020. 

bdkbZ&3 

(UNIT—3) 

3- kl D;k gS \ kl ds fy, izcU/k djuk D;ksa vko’;d gS \ bldh 

fofHkUu i)fr;ksa ds uke fyf[k,A  

What is Depreciation ? Why is arrangement for depreciation 

necessary  ? Write the name of its various methods.  

vFkok 

(Or) 

fcykliqj Dyc ds izkfIr ,oa Hkqxrku [kkrs esa 31&3&2018 dks lekIr 

o”kZ ds fy, vk;&O;; [kkrk ,oa fpëk rS;kj dhft, % 
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izkfIr;k¡ ` 

gkFk esa jksdM+ ls 3,500 

cSad esa jksdM+ ls 10,000 

nku ls 5,000 

pank ls 12,000 

izos’k ‘kqYd ls 1,000 

fofu;ksx ij C;kt ls 100 

cSad ls izkIr C;kt ls 400 

iqjkus v[kckj ds foØ; ls  150 

ukV~; ¼Mªkek½ fVdVksa ds foØ; ls 1,050 

 33,200 

 

Hkqxrku ` 

osru dks 2,000 

ejEer O;; dks 500 

QuhZpj dks 6,000 

fofo/k O;; dks 500 

fofu;ksx Ø; dks 6,000 

chek izhfe;e dks 200 

fofy;MZ Vscy dks 8,000 

dkxt o L;kgh dks  150 

ukV~; O;; dks  500 

gkFk esa jksdM+ ¼vafre½ 2,150 

cSad esa jksdM+ ¼vafre½ 7,200 

 33,200 
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lwpuk,¡ % 

(i)  o”kZ 2017&18 dk cdk;k pank ` 900 rFkk o”kZ 2018&19 ds fy, 

vfxze izkIr pank ` 350 

(ii) iwoZnŸk chek ` 90 

(iii) vnŸk fofo/k O;; ` 40 

(iv) nku dk 50% iw¡thdr̀ fd;k tkuk gSA 

(v) izos’k ‘kqYd dks vkxe ekuk tkuk gSA 

(vi) fofu;ksxksa ij 8% okf”kZd dh nj ls 5 ekg dk C;kt mikftZr 

gSA 

(vii) xr o”kZ esa Ø; dh xbZ fofy;MZ Vscy dh ykxr ` 30]000 Fkh 

rFkk ml o”kZ ` 22]000 dk Hkqxrku fd;k x;k FkkA 

From the following Receipts and Payments Account of 

Bilaspur Club, prepare Income and Expenditure Account for 

the year ended 31st March, 2013 and its Balance Sheet as on 

that date : 

Receipts ` 

To Cash in hand 3,500 

To Cash at bank 10,000 

To Donations 5,000 

To Subscriptions 12,000 

To Entrance fees 1,000 

To Interest on investments  100 

To Interest received from Bank 400 

To Sales of old newspaper 150 

To Sale of drama tickets 1,050 

 33,200 
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Payments ` 

By Salary 2,000 

By Repairs 500 

By Furniture 6,000 

By Miscellaneous exp. 500 

By Purchase of Investment 6,000 

By Insurance Premium 200 

By Billiard Table 8,000 

By Paper and Ink 150 

By Drama Expenses 500 

By Cash in hand (closing) 2,150 

By Cash at Bank (closing) 7,200 

 33,200 

Informations : 

(i) Subscriptions in arrear for the year 2017-18 ` 900 and 

subscriptions in advance for the year 2018-19 ` 350 

(ii) Prepaid Insurance ` 90 

(iii) Outstanding Miscellaneous expenses ` 40 
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(iv) 50% of donation is to be capitalised 

(v) Entrance fees are to be treated as revenue income 

(vi) 8% interest has accrued on investment for five months 

(vii) Billiard table costing ` 30,000 was purchased during 

the last year and ` 22,000 were paid for it.  

bdkbZ&4 

(UNIT—4) 

4- ‘kk[kk [kkrs ls D;k vk’k; gS \ ‘kk[kk [kkrksa ds fofHkUu izdkjksa dks 

le>kb,A 

What do you mean by Branch Account ? Explain different 

types of branch account. 

vFkok 

(Or) 

1 tqykbZ] 2009 dks tsM dEI;wVlZ fy- fcykliqj us dEI;wVj LdSV~l 

b.MLVªht ls ,d eYVhehfM;k dEI;wVj fdjk;k Ø; i)fr ds vk/kkj 

ij Ø; fd;kA dEI;wVj dk udn ewY; ` 1]00]000 FkkA vuqca/k ds 

le; ` 20]000 fn, x, rFkk ‘ks”k jde ` 20]000 dh 4 okf”kZd 

fd’rksa esa 5% okf”kZd C;kt lfgr] tks izfro”kZ 31 ekpZ dks ns; gks] 

nsuk r; gqvkA izFke fd’r 31 ekpZ] 2010 dks ns; gqbZA 
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;g ekurs gq, fd [kkrs izR;sd o”kZ dh 31 ekpZ dks can gksrs gSa] tsM 

dEI;wVlZ fyfeVsM dh iqLrdksa esa tuZy izfof”V;k¡ dhft,A kl dh nj 

10% okf”kZd gS tks lEifŸk dh ykxr ewY; ij yxk;k tkrk gSA 

On 1st July, 2009 Zed Computers Ltd., Bilaspur purchased a 

multimedia computer from Computers Scats Industries. 

Terms are on hire purchase basis. The cash price of the 

computer was ` 1,00,000. The payment was to be made 

` 20,000 on the date of contract and the balance in 4 annual 

instalments of ` 20,000 plus interest at 5% per annum 

payable on 31st Mach each year, the first instalment being 

payable on 31st March, 2010. 

Show Journal entries in the books of Zed Computers Ltd. 

assuming accounts are closed on 31st March and 

depreciation at 10% per annum is written off on the original 

cost.   

bdkbZ&5 

(UNIT—5) 

5- QeZ ds fo?kVu ls vki D;k le>rs gSa \ olwyh [kkrk D;k gS \ ;g 

dc vkSj dSls cuk;k tkrk gS \ 

What do you mean by dissolution of  firm ? What is 

Realisation Account ? When and how is it prepared ?  
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vFkok 

(Or) 

X, Y vkSj Z ,d QkeZ esa 3 % 2 % 1 ds vuqikr esa ykHk&gkfu foHkktu 

djus okys lk>snkj gSaA mUgksaus 1 vizSy] 2013 dks lk>snkjh ds fo?kVu 

dk fu’p; fd;kA 31 ekpZ] 2013 dks mudk fpëk fuEukuqlkj Fkk % 

nkf;Ro 

jkf’k 

(`) 

iw¡th [kkrs %        `  

              X      1,20,000  

              Y        60,000 1,80,000 

X dh iRuh dk _.k 30,000 

ysunkj 55]500 

thou chek dks”k 42,000 

fofu;ksx mPpkopu dks”k 18,000 

 3,25,500 
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lEifŸk;k¡ 

jkf’k 

(`) 

e’khujh 1,21,500 

Lda/k 22,650 

fofu;ksx 62,490 

thou chek ikWfylh                            ` 42,000 

nsunkj                                    27,900  

(–) izko/kku                                 1,800 26,100 

Z dk iw¡th [kkrk 34,500 

cSad esa jksdM+ 16,260 

 3,25,500 

thou chek ikWfylh dk ` 35]900 esa leiZ.k fd;k x;kA X us 

fofu;ksx ` 52]500 esa fy, rFkk viuh iRuh ds _.k ds Hkqxrku dk 

nkf;Ro fy;kA Y us LdU/k dks ` 21]000 vkSj ` 14]800 ds nsunkjksa 

dks ` 12]000 esa fy;kA e’khu dks ` 1]65]000 esa cspk x;kA ‘ks”k 

nsunkjksa ls 50% jkf’k olwy gqbZA olwyh O;; ` 1]800 gq,A dqN 

fofu;ksx tks fd iqLrdksa esa ugha fn[kk, x,] ` 9]000 ds FksA bls ,d 

ysunkj us blh ewY; ij fy;kA 

[kkrkcgh esa vko’;d [kkrs cukb;sA 
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X, Y and Z are partners sharing profits and losses in the ratio 

of 3 : 2 : 1. They agreed to dissolve their firm on 1st April, 

2013. Their Balance Sheet on 31st March, 2013 was as  

under : 

Liabilities 
Amount  

(`) 

Capital A/c :             `  

                   X     1,20,000  

                   Y        60,000 1,80,000 

X’s wife’s loan 30,000 

Creditors 55]500 

Life Insurance Fund 42,000 

Investment Fluctuation Fund 18,000 

 3,25,500 

 

Assets 
Amount 

(`) 

Machinery 1,21,500 

Stock 22,650 

Investment 62,490 

Life Insurance Policy                                      ` 42,000 

Debtors                                                       27,900  

(–) Provision                                                 1,800 26,100 

Z’s Capital A/c 34,500 

Cash at Bank 16,260 

 3,25,500 
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The Life Insurance Policy is surrendered for ` 35,900. The 

investments are taken off by ‘X’ for ` 52,500. ‘X’ is also 

agreed to discharge his wife’s loan. Y takes off all the stock 

for ` 21,000 and debtors amounting to ` 14,800 at ` 12,000. 

Machinery is sold for ` 1,65,000. The remaining debtors 

realised 50% of book value. The expenses of realisation 

amount to 1,800. It is found that an investment not recorded 

in the books is worth ` 9,000. The same is taken over by one 

of the creditors at this value. 

Prepare necessary ledger accounts. 
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